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All coconuts are camphor.

No camphor is banyan.

Only a few banyans are nutmeg.
Some dragons are cacao.

All camphor are cacao.
Conclusions:

A. Some dragons are not banyan
B. No nutmeg is cacao

C. No coconut is banyan

D. Some camphor are dragon
E. None follows
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Most Bxpected 250 Questions (Super Series)

Statements:

Some flours are gram.

All flours are chappati.

Only a few maida are gram.
All maida is parota.

No samosa is gram.
Conclusions:

A. Some chappati are parota
B. Some parota are not gram
C. No flour is samosa

D. No maida is samosa

E. All follow
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Mbst Bxpected 250 Questions (Super Series) o
. Each of these questions contains six statements followed by four

sets of combinations of three. Choose the set in which the
statements are most logically related.
A. All roses are fragrant.

B. All roses are majestic.

C. All roses are plants.

D. All roses need air.

E. All plants need air.

F. All plants need water.

(a) CED

(b) ACB

(¢c) BDC

(d) CFE
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Mbst Expected 250 Questions (Super Series) o

Each of these questions contains six statements followed by four&#
sets of combinations of three. Choose the set in which the
statements are most logically related.

A. Some of my closest friends disapprove of me.

B. Some of my closest friends are aardvarks.

C. All of my closest friends disapprove of me.

D. All who disapprove of me are aardvarks.

E. Some who disapprove of me are aardvarks.

F. Some of my closest friends are no aardvarks.

(a) BCD
(b) ABD
(c) BCE
(d) ABE
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Most Bxpected 250 Questions (Super Series) o

Each of these questions contains six statements followed by four&#
sets of combinations of three. Choose the set in which the
statements are most logically related.

A. All those who achieve great ends are happy.

B. All young people are happy.

C. All young people achieve great ends.

D. No young people achieve great ends.

E. No young people are happy,

F. Some young people are happy.

(a) ADE
(b) ABF
(c) ACB
(d) ADF
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Each of these questions contains six statements followed by four
sets of combinations of three. Choose the set in which the
statements are most logically related.

A. All candid men are persons who acknowledge merit in a rival.
B. Some learned men are very candid.

C. Some learned men are not persons who acknowledge merit in
a rival.

D. Some learned men are persons who are very candid.

E. Some learned men are not candid.

F. Some persons who recognize merit in a rival are learned.

(a) ABE

(b) ACF

(c) ADE

(d) BAF
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Each of these questions contains six statements followed by four
sets of combinations of three. Choose the set in which the
statements are most logically related.

A. All men are men of scientific ability.

B. Some women are women of scientific ability.

C. Some men are men of artistic genius.

D. Some men and women are of scientific ability.

E. All men of artistic genius are men of scientific ability.

F. Some women of artistic genius are women of scientific ability.
(a) ACD

(b) ACE

(c) DEF

(d) ABC

4 @Reasoningbybasantsir



Most Expected 250 Questions (Super Series) o

- IBPS

Each question has a set of four statements. Each statement has
three segments. Choose the alternative where the third segment in
the statement can be logically deduced using both the preceding
two, but not just from one of them.

A. No cowboys laugh. Some who laugh are sphinxes. Some
sphinxes are not cowboys.

B. All ghosts are florescent. Some ghost do not sing. Some singers
are not florescent.

C. Cricketers indulge in swearing. Those who swear are hanged.
Some who are hanged are not cricketers.

D. Some crazy people are pianists. All crazy people are whistlers.
Some whistlers are pianists.

a. A and B

b. C only

c. Aand D

. d. D only
4 @Reasoningbybasantsir
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Each question has a set of four statements. Each statement has
three segments. Choose the alternative where the third segment in
the statement can be logically deduced using both the preceding
two, but not just from one of them.

A. All good people are knights. All warriors are good people. All
knights are warriors.

B. No footballers are ministers. All footballers are tough. Some
ministers are players.

C. All pizzas are snacks. Some meals are pizzas. Some meals are
snacks.

D. Some barkers are musk deer. All barkers are sloth bears. Some
sloth bears are musk deer.

a.Cand D

b. B and C

c. A only

. d. C only
4@Reason|ngbybasant5|r
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Each question has a set of four statements. Each statement has
three segments. Choose the alternative where the third segment in
the statement can be logically deduced using both the preceding
two, but not just from one of them.

A. Dinosaurs are prehistoric creatures. Water-buffaloes are not
dinosaurs. Water-buffaloes are not prehistoric creatures.

B. All politicians are frank. No frank people are crocodiles. No
crocodiles are politicians.

C. No diamond is quartz. No opal is quartz. Diamonds are opals.
D. All monkeys like bananas. Some GI Joes like bananas. Some GI
Joes are monkeys.

a. C only

b. B only

c. Aand D

d. Band C
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Most Expected 250 Questions (Super Series) /
“A (@ B” means “A is father of B”. e
“A % B” means “A is the sister of B”.

“A & B” means “A is son of B”.

“A $ B” means “A is daughter of B”.
“A # B” means “A is brother of B”.
In which of the following combination W is the sister-in-law of X ?
LH@W%R@T#C & X
ILW&H@R@WT#C & X
IHNILWSH@R@T#C

A. Only II

B. Both I and I1I

C.Only I

D. All 1, I1, and III

E. None
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Most Expected 250 Questions (Super Series) /
- “A (@ B” means “A is father of B”. e

“A % B” means “A is the sister of B”.
“A & B” means “A is son of B”.
“A $ B” means “A is daughter of B”.
“A # B” means “A is brother of B”.
What comes in place of blank space such that G must be the
daughter-in-law of F?

FoC RwU G
A. % and %

B.$ and @

C. % and &

D. @ and %

E. None of these

4 @Reasoningbybasantsir



Most Bxpected 250 Questions (Super Series) /
- “Empty Corner Rush Drive Safe” is coded as
“W%11 H@w13 W%6 Vw13 GS7”.
“Movie Star Over Under Cast” is coded as
“Gw3 M$9 Gw10 W11 MS15”.
“Equation Solution Open Motion Trust” is coded as
“G%12 Ww14 M$12 F%19 M@w12”.

4 @Reasoningbybasantsir



Most Expected 250 Guestions (Super Series) /
- “Empty Corner Rush Drive Safe” is coded as
“W%11 H@13 W%6 Vw13 GS$7”.
“Movie Star Over Under Cast” is coded as
“Gw3 M$9 Gw10 W11 MS15”.
“Equation Solution Open Motion Trust” is coded as
“G%12 W@w14 M$12 F%19 M@12”.
What is the code of Over?
A. G@3
B. M$9
C.Wwll
D. M$11
E. Gw10
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Most Expected 250 Guestions (Super Series) /
- “Empty Corner Rush Drive Safe” is coded as
“W%11 H@13 W%6 Vw13 GS$7”.
“Movie Star Over Under Cast” is coded as
“Gw3 M$9 Gw10 W11 MS15”.
“Equation Solution Open Motion Trust” is coded as
“G%12 W14 M$12 F%19 M@12”.
Which of the following word is coded as W%6?
A. Corner
B. Rush
C. Safe
D. Empty
E. Drive

4 @Reasoningbybasantsir



Most Bxpected 250 Questions (Super Series) d
. A@B(18m)— A is 15m north of B

A#B(12m) — A is 10m south of B

A$B(14m) — A is 20m east of B

A%B(10m) — A is 15m west of B

C&AB— C is the middle point of A and B

@% —>north-west, #$ — Southeast

S@M(19); N#A(16); Q%R(3); R@T(13); G#Q(6); C&SM; M%G(5); C%A;
R#BS$SA; TSN(7); O&MG

What is the direction of T with respect to A?
a) @%

b) #$

¢)Can’t be determined

d) #%

e) @$
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Most Bxpected 250 Questions (Super Series) /
. A@B(18m)— A is 15m north of B

A#B(12m) — A is 10m south of B

A$B(14m) — A is 20m east of B

A%B(10m) — A is 15m west of B

C&AB— C is the middle point of A and B

@% —>north-west, #$ — Southeast

S@M(19); N#A(16); Q%R(3); R@T(13); G#Q(6); C&SM; M%G(5); C%A;
R#BS$SA; TSN(7); O&MG

What is the direction and shortest distance of C with respect to B?
a) C%B(23)

b)B%C(13)

¢) C%B(13)

d) B%C(23)

e) None of the above
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Most Bxpected 250 Questions (Super Series) /
. A@B(18m)— A is 15m north of B

A#B(12m) — A is 10m south of B

A$B(14m) — A is 20m east of B

A%B(10m) — A is 15m west of B

C&AB— C is the middle point of A and B

@% —>north-west, #$ — Southeast

S@M(19); N#A(16); Q%R(3); R@T(13); G#Q(6); C&SM; M%G(5); C%A;
R#BS$SA; TSN(7); O&MG

Four of the following are alike in a certain way. Which of the following ones
does not belong to the group?

a) SA

b)BO

c) QN

d) RG

e)AM
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Eight members- L, M, N, O, P, Q, R, and S are from the saifie
family. There are three generations with three married
couples. They are standing in the queue for the Covid test
according to the token number from 1 to 8. All the
information is not necessarily in the same order. L.’s spouse
gets an immediate previous token number of O. O is the only
son of M. L’s spouse gets an even number token, at least
three person stands after L’s spouse. N is the brother in-law
of O who is the uncle of P. P is the granddaughter of M and
R’s siblings. Neither S nor N has siblings. R is the only son of
N. L is the father-in-law of N. R’s father's token number is
twice that of Q’s mother's token. The difference between the
token numbers of Q’s spouse and O’s spouse is one. O’s
father has even number token and stands after M’s daughter-
in-law. R’s token number is more than L. P gets two less than
the token number of Q’s brother. Q gets one of the token
numbers before R.



Most Expected 250 Questions (Super Series) i

4 @Reasoningbybasantsir
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Most Bqpected 250 Questions (Super Series) i

L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

Which of the following token number that O’s spouse get?

a) Token 6

b) Token 3

¢) Token 4

d) Token 5

e) Token 7

4 @Reasoningbybasantsir



Most Bqpected 250 Questions (Super Series) i

L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

How many persons are standing between Q’s daughter and
\\W¢

a) Two

b) Three

¢) Four

d) One

e) More than four

4 @Reasoningbybasantsir



Most Bqpected 250 Questions (Super Series) i

L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

How R is related to S’s spouse?

a) Nephew

b) Niece

¢) Son

d) Daughter

e) Can’t be determined

4 @Reasoningbybasantsir



Most Bqpected 250 Questions (Super Series) i

L’s spouse gets an immediate previous token number of 0.0
is the only son of M. L’s spouse gets an even number token, at
least three person stands after L’s spouse. N is the brother in-
law of O who is the uncle of P. P is the granddaughter of M
and R’s siblings. Neither S nor N has siblings. R is the only
son of N. L is the father-in-law of N. R’s father's token
number is twice that of Q’s mother's token. The difference
between the token numbers of Q’s spouse and O’s spouse is
one. O’s father has even number token and stands after M’s
daughter-in-law. R’s token number is more than L. P gets
two less than the token number of Q’s brother. Q gets one of
the token numbers before R.

What is the sum of token numbers of P and M?

a) 3

b) 4

¢)S

d) 6

e)7
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Most Expected 250 Questions (Super Series)
Eight persons — A, B, C, D, E, F, G and H are sitting on a strziig'm
bench facing North. Each have scored different marks viz. 10, 12, 14,
16,17, 18, 19 and 20, but not necessarily in the same order. A has not
scored 17 marks. The person who has scored 12 marks is sitting
immediate left to that person who has scored 18 marks. D is sitting
between A and G. Only one person is sitting between the one who has
scored 10 marks and the one who has scored 19 marks. F has scored 19
marks. Only two persons are sitting between B and the one who scored
18 marks. B is an immediate neighbour of F and E. D is sitting
immediate right of A. The one who has scored 20 marks, is not sitting
on extreme end of the row. F is not sitting on extreme end of the row. B
is not sitting extreme end of the row. D has scored 14 marks. H has not
scored 18 marks. A is sitting extreme end of the row. B has not scored
20 marks. Five persons are sitting between A and B.

|
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Mbst Expected 250 Questions (Super Series) i
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A has not scored 17 marks. The person who has scored 12 marks 1S
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

How many person sit/sits between second to the left of G and H?

01. None 02.3
03.2 04.1
05. None of these.
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A has not scored 17 marks. The person who has scored 12 marks 1S
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

is an immediate neighbor of E

01.C 02. A
03.F 04. B
05. G



Most Expected 250 Questions (Super Series)
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A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who among following sit at the extreme end of the line?

01.A,F 02.A,C
03.A,B 04.A,G
05. A, E
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Most Bxpected 250 Questions (Super Series) d

A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Which of the following person chooses the number 18?

01.1 02. L
03. H 04. G
05. None of these
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A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who sits exactly between G and H?

01.J 02. K
03. L 04 M
05. F and L
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A has not scored 17 marks. The person who has scored 12 marks®§
sitting immediate left to that person who has scored 18 marks. D is
sitting between A and G. Only one person is sitting between the one
who has scored 10 marks and the one who has scored 19 marks. F has
scored 19 marks. Only two persons are sitting between B and the one
who scored 18 marks. B is an immediate neighbour of F and E. D is
sitting immediate right of A. The one who has scored 20 marks, is not
sitting on extreme end of the row. F is not sitting on extreme end of the
row. B is not sitting extreme end of the row. D has scored 14 marks. H
has not scored 18 marks. A is sitting extreme end of the row. B has not
scored 20 marks. Five persons are sitting between A and B.

Who is third to the left of M?

01. G 02. K
03. H 04. L
05. None of these
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